RG-250

(A 10
20

7

380

30
(A) 10
40
50
60
70
80
90
(B) 100
120
550, 560, 561,
570
150
160
830
610
210
250 690
700, 690
710, 711, 712
900 720, 730
740
750
300 760
310 770
320 780
850,
330 790
800
350
360
370

(A) LOCTITE 242
(B) LOCTITE 243

70 920

562

(B)

860 2pcs, 870

HALLDE 3ANACHbIE YACTH



RG-250

yepTex Homep

Ne nspenus

Onucanue

WTYK

10 25190 BUHT 2

20 10642 LWAWMBA, MINACT., 18/10,5X1,5 2

30 25162 LITOK, L=45 1

40 25181 BTYIKA, 19/14-10,2 2

50 25189 LITOK, L=56 1

60 33305 PYYKA KAPETKW, ANAM. 10X4 3

70 25155 PYUKA BbITAITIKUBATENA 1

80 25102 MNACTUHA MUTATENA, BKIKOYAA LUTOK 1

90 25159 LUNWNIBKA, 6 MM 1
100 14833 CTOMOPHbIV BUHT 1
120 1406 ®UKCATOP PYYKN B CEOPE 1
150 3152 LLINWNBKA ®KCATOP ONCKA CEPACBIBATENA 2
160 10262 KOMNbLIEBOE YMNNOTHEHWE, V-18S 1
200 10259 PESVNHOBAS YMNNOTHSAIOLLASA LWAMBA, 18X30X7 1
210 1402 BAJT HOXXA B CBOPE RG-200 1
250 1403 KOMMNEKT TOPMO3A RG-100/200/250. 1
300 14521 BWHT, M6S M6X12H 4
310 25149 MNNACTUHA OBUTATENA 1
320 14353 BWHT, MRT M5X40 4
330 15760 OBUIATENb 220-230 1 60 1
330 15757 OBUIATENb 110-120 1 50/60 1
330 15759 OBUIATENb 230/400 3 50, 440 60 1
350 25140 OCHOBAHVE 1
360 25146 BEHTUNALUMOHHAA PELLETKA, NEBAA 1
370 14622 BuHT RTK ST3.5X13 A2 70 6
380 25180 NECTWK HALLDE 1
390 25160 TATA 1
400 25191 BUHT ANnA CUCTEMbI KYNNChI 2
410 25161 TMNBb3A ANA CUCTEMbI KYNUCHI 1
420 25182 BTYJIKA, 18-15,3 2
440 14223 BWHT, MKFS M4X 10 A2 70 1
450 25177 ONOPA, NOPLLEHb 1
460 25106 UMnMHAP NOAAYN B CBOPE 1
470 1172 ®UKCATOP OUCKA CMIPANEBUOHbIN 1
480 25153 JNCK CBEPACBIBATEJb 1
490 25183 Brynka 37/33-26,4 1
495 14881 Baknenka KDS 2X4,5 1
500 1404 KAMEPA HOXXA RG-250 1
510 10455 BCTABKA, IKPT 1715S 1
520 15657 KHOIMKA «O» B CBOPE 1
530 15440 KHOTMKA «1» B CBOPE BE3 OBO3HAYEHUA 1
540 25158 HANPABNAIOLLAA BTYNKA 1
550 25145 SALNTHBIV BEIKIKOYATESL B CBEOPE CTAH[. US 1
560 14851 BWHT, MRT-TT M4X10 A2 DIN 7500 2
561 15565 MukpoBbikntoyatens XGT42C-86-S20Z1 1
562 23227 n3onAaunA anA NEPEKNKOYATENA 1
570 25163 LWTUST AKTUBATOPA B CEOPE 1
580 15648 N3ONNPYIOLWAA TPYBKA, 134-002, ANAM. 12/8 1
590 10589 MPEOOXPAHUTENBHLIA 3AXUM KABENA, 55-016-89 2
600 14336 BWHT, MRT-H M4X25 A2 70 2
610 25137 KOPIMYC MALWWHbI B CEOPE 1
620 15147 LHyp nuTtaHus CB 1¢ gns RG-100/200/250/350/VCB-61/VCM-41 1
620 15142 WHyp nuTtanna CB 3® 1
620 15377 KABETb MUTAHWA, BS/2.5MS, ONA AHITIAU 1
620 15208 KABEJTb MUTAHUA, SJT3X14, AWG, ANA CLLA 1
690 15810 KOHTAKTOP 11BG0610A230 4

HALLDE 3ANACHbIE YACTH




RG-250

yepTex Homep

Ne nspenus

Onucanue

WTYK

690 15813 KoHTakTop 11BG0910A110 1
690 15818 KOHTAKTOP 11BG0610A400 2
700 15815 KOHTAKTOP 110B 50/60rL, 1
710 15811 PEJNE NEPEPY3KWN RF120160 1
710 15816 PEJIE NEPEMPY3KM 120630 1
710 15666 Pene neperpysku 7-10A 110v 1
720 15385 MNATPOH NPEOOXPAHUTENA 1
730 15384 NPEOOXPAHUTENb, T100MA 1
740 15489 KOHOEHCATOP 1
740 15665 KOHOEHCATOP 60 M, 120 B 1
750 15110 RC-LIEMOYKA, B3-220 220 B 1
750 15111 RC-LIEMO4YKA, 110 B 1
760 25136 KOMMMEKT CTEPXXHEN, M5 1
770 25135 KOMMNEKT NPOBOOKN 1
780 25148 PYYKA 1
790 14046 FAMKA, ®UKCUPYIOLWAA, LM M5 4
800 25147 BEHTUNALUMOHHAA PELWETKA, NPABAA 1
810 10507 HOXKA, PE3VIHOBA4A, BVO 22H10 4
820 40786 BWHT, ANA PE3VNHOBOW HOXKW 4
830 15354 FEPKOH, HM-S-16 1
840 1184 FAEYHbIN KNKOY CMINPANEBWOHOMO ®UKCATOPA OUCKA 1
850 10497 MNNACTMACCOBAA BTYIKA, 05-6-10-7.5 1
860 10498 MNACTMACCOBASA HAKITALKA, 32-6 2
870 14465 BWHT, LSKS M6X20 A2 70 1
900 1098 KOMMNEKT PEAYKTOPA W NNAHETAPHbIX LWECTEPH 1
920 25103 YCTPOWCTBO MNOJA4YM B CEOPE 1

HALLDE 3ANACHbIE YACTH



